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EXEIPERE (AN01)

TH4 R7EL [EiE4 385 - EEENKM EEREES FEXS B MERR - fETE
THERXS B HEHMERT
TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
T8 HEHMERT
= 1 3,442, 379
1 B IE L
= 1 281, 759
B EER L
= 1 281, 759
B mH w (R - AT0) TR ATy, R D72 15
km 14.9 18,910 281, 759
MERMERF T
= 1 2175, 250
M- E BT
= 1 2175, 250
FAET E 25
H 3 91, 750 275, 250
FRET
= 1 2,409, 870
T R T
= 1 2,409, 870
B (L) TFETGIE B i 35
m2 15, 300 137.9 2,109, 870
FREAL Sy 45
t 15 20, 000 300, 000
e T
= 1 475, 500
BB
= 1 475, 500
_q - T I




EXEIPERE (AN01)

TH4 R7EL [EiE4 385 - EEENKM EEREES FEXS B MERR - fETE
THERXS B HEHMERT
TEXSy - TFE - &R - 5] Hiks HAAL oy Bl &FA B - BEHER T
AR B A H 55
ANH 15 16, 700 250, 500
I B B H 65
ANH 15 15, 000 225, 000
[EREAE Xy
= 1 3,442, 379
Iam R
= 1 913, 000
fmiakE (iR
= 1 913, 000
T
= 1 4, 355, 379
Bl E ey
= 1 2,669, 000
T 55Ul
= 1 7,024, 379
— RS FL
= 1 1, 559, 621
T Mk
= 1 8, 584, 000
THE Bk M OVl 7 TH 2 Bl 48
= 1 858, 400
T
= 1 9, 442, 400
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N Ny 2 A 4 A 2025. 05
1 /ﬁ( @’fﬂfﬁ%é At H AF A 2025. 05
SRR 1.000-00000 0.0 0
TR B T (B F R A7) VEZETHE: N ), BB & D7
Hifr km BT ] B 18. 910
LW - B % BAAT g HAA &HE SE
R (EH - A1) A
km 1 18,910 18,910
aat 18,910
B M km
B 18,910
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N Ny 2 A 4 A 2025. 05
1 /5< E‘{ﬂf] % A A A 2025. 05
SRR 1.000-00000 0.0 0
o | RIS
==R 275 R N N o
HAL H HANLHL B 5 B 91, 750
LW - B % BAAT g B & SE
EEIEER
A 23, 400 140, 400
BTV E 3 HE R
H 37, 800 113, 400
e ANBAEL, ATy 8 [LAEO. 28m3 (SEFEO. 2m
3), B CE- EHiRY &), M
L, 7. 5kmEL T m3 2,219 4,438
LGy (t)
t 17, 000 17, 000
&t 275, 238
" M./ A
B 91, 750
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N Ny 2 A 4 A 2025. 05
1 /ﬁ( @’fﬂfﬁ%é At H AF A 2025. 05
SRR 1.000-00000 0.0 0
W3 HEKERE (EA) VESEIHE  BEMR PR AL
==y m2 AT S ] HAA 137.9
LW - B S ==y B HAA & SE
HEMR L OF $hX0) - 50 BIA TE O, 807 Vo) Gve=h -7 4~ V-2t
), 11. 5kmPA T, 2 CTOEH
m2 137.9 137.9
N 137.9
Hifilh 1379 | ™
N AW B A 2025. 05
1 /ﬁ( @’fﬂf]?é A i A A 2025. 05
TR 1.000-00000 0.0 0
o | BRELALSY
o HifL t Rt 1 S 20, 000
LW - B S ==y B HAA & SE
LGy (t)
t 20, 000 20, 000
it 20, 000
Hiflh 20, 000 o
-5 - 7oL I I




N Ny 2 A 4 A 2025. 05
1 /k @’fﬂfﬁ%é At H AF A 2025. 05
SRR 1.000-00000 0.0 0
=
Hifr BN SR ] HAA 16, 700
4% - Bk Hifir BT A iz
AH 16, 700 16, 700
aat 16, 700
Hifilh 16, 700 M
N AW B A 2025. 05
1 /ﬁ( @’fﬂf] %% A i A A 2025. 05
TR 1.000-00000 0.0 0
= T N I N
HAL BT HE ) EAf 15, 000
2F - Bk ==y HAA & S
AH 15, 000 15, 000
it 15, 000
Hiflh 15, 000 M
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